=10°

1/o;do/dg

1071

1072

1073

1074

Ratio to DO
[N

0.5

1960 GeV ppbar Z (Drell-Yan)
gl— T T T T | I I I T T TTT | I I I T T TTT I I ‘IE
- @, (electron channel, 1 <y| <2) -
__ !'_"_"_"_"_''_.--_--_--_--_.-!__N._‘._~ __
E i.ii.-....-! E
= L] E
- L) ]

-\‘

= L =
= LS =
- LN =
= i =
u LN _
— m DO .LE‘. —
= -3~ Herwig 7.2.0 default ﬁ% =
— ¢ Sherpa 1.4.0 default E
_I I I I | | | I I | | | I I I | | | I_
:I T T T LI | T T T T T LI | T T T T T LI | T T I:
= léﬁ$f
IE‘ _____ EEL ,_\/J.\I:JE ‘ll:i_
- g

1 1 1 1 1 11 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1
1072 107! 1 .
¢

Rivet 3.1.0, > 5.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


